Izračunaj:
 a) 135.7 : 2                                 h) 12.7 : 100
 b) 373.842 : 23                           i) 0.325 : 10
 c) 57 : 4                                        j) 46 : 10
 d) 6 : 8                                           k) 560 : 100
 e) 3.5 : 4                                         l) 2.35 : 0
 f) 1.232 : 22                                   m) 0 : 3.6
 g) 48.3 : 10
5.) Izračunaj:
 a) 15.75 : 0.4                                d) 6 : 2.5
 b) 3.92 : 1.12                               e) 0.7 : 0.08
 c) 9.9 : 0.08                                 f) 163 : 16.3
6.) Dopuni:
 a) 6.8 m = ________cm
 b) 39.4 cm = _______dm
 c) 4.1 km = ________m
 d) 23 cm2= _________m2
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